Maytag DG31CA 08 - BURNER ASSEMBLY & COMPONENTS

( MODEL DG31CA-CM-CT BURNER ASSEMBLY & COMPONENTS )

3-30068
3-30109

3-31086

3-31013
3-31088

3-31003

3-30069
3-31026 3-31043

3-31003

3-30069

3-30098

3-31003

) i
3-31152 3.30074 3-31065 3-30093
5 ”
3-31066 A%
3-31067

oo

3-30176

Conversion Kit

‘ Nat to LPG

3-30181

\
S —
3-3017% 3-31159

24

Maytag Commercial Maytag DG31CA Dryer Parts Parts Diagram 08 - BURNER ASSEMBLY & COMPONENTS
Click on the part number to view part

001 Y 330068 Pilot Burner - Nat.

002 NLA Not Available BURNER, MAIN

003 NLA Not Available MANIFOLD, MAIN BURNER

004 NLA Not Available THERMOCOUPLE---NA

005 NLA Not Available SUPPORT, BURNERS

006 NLA Not Available PILOT BURNER (LP)

007 Y330175 Pilot Burner

008 Y330176 Sensing Probe

009 330181 Not Available CONVEREION KIT-NAT. 20
LPG

010 NLA Not Available PILOT ORIFICE - NAT

011 Y330195 Pilot Orifice - LPG

012 Y 330206 Wire For Sensing Probe

013 331003 489483 Screw 10-32 X 1/2

014 331013 Y0300830 Screw No.10-32 X .375

015 331026 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping


http://www.pwslaundry.com/c-299608-commercial-maytag-dg31ca-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-7805742-maytag-y330068-dryer-pilot-burner-nat.html
http://www.pwslaundry.com/i-7805770-maytag-y330175-dryer-pilot-burner.html
http://www.pwslaundry.com/i-7805771-maytag-y330176-dryer-sensing-probe.html
http://www.pwslaundry.com/i-7805777-maytag-y330195-dryer-pilot-orifice-lpg.html
http://www.pwslaundry.com/i-7805780-maytag-y330206-dryer-wire-for-sensing-probe.html
http://www.pwslaundry.com/i-7802278-maytag-489483-dryer-screw-10-32-x-1-2.html
http://www.pwslaundry.com/i-7805498-maytag-y0300830-dryer-screw-no-10-32-x-375.html
http://www.pwslaundry.com/i-7803254-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html

016

017

018

019

020

021
022
023
024
025

NLA

NLA

NLA

NLA

NLA

331086
NLA
NLA
NLA
NLA

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available
Not Available
Not Available
Not Available

BRACKET, GAS CONTROL

RETAINER BRACKET, MAIN
BURNER

ORIFICE, MAIN BURNER-
NAT.

ORIFICE, MAIN BURNER-
BUTANE

ORIFICE, MAIN BURNER
(PROPANE)

SHIELD FOR PILOT BURNER
PILOT SHIELD

BRACKET, MANIFOLD
PILOT LINE

PILOT SHIELD



	Maytag DG31CA 08 - BURNER ASSEMBLY & COMPONENTS

